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SECTION-A

Question numbers 1 to 12 carry 1 mark each.
oY1 9 99 12 (7 2ee FE 1

o4 T 1 (e 12 7 ereire yane 1

. I L.C.M. (91,26)=182, then H.C.F. (91,26)=
7 AL 8 (91,26)=182, cefem 4T (91, 26 )=

it A A & (91,26)=182, U AT (91, 26)=
13

9

(b) 26

) 7

(d) 9

2. According to Euclid’s Division Lemma, given two positive integers ‘a’ ar
'b', there exist unique integers ‘g’ and ‘r’ such that —

Tirer Remm arafiw 1we B @ ges el ‘@ SR b T ke 9 :
TS wee WA ‘g’ W e qrE —

@ren e Arafisr Qi 71 @R ows WY ‘@’ 938 ‘b’ HET A G
1T SRS we U ‘g’ G P YRR I —

fa) -a=bq+r, O<r<b
(bf ~a=bg+r, 0<r<b
{ff;,ffa=bq-*r- O<r<b
{ff.’ a=bg+r, O<r<b
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If the graph of the polynomial y = f(x) intersects X-axis at two points,
then number of zeros of f(x) is — 1

A y = flx) Teom AFOR @vErn X-me Wb Re (F A (ST f(x)q 74
Y ¥ —

i y= f(x) wmmﬁax-mqﬁﬁﬂ{c@mmwﬂx)-ﬂ

w[Tei HY A —
fa] 0O @

) 3 | @
(c) 1 @@

[d) 2 g 4
One root of a quadratic equation is 2 and @t}w two roots is 0, the

equation is — 1
41 faure sEfieeeT 951 77 2 uR @ﬂwnﬁﬁwﬂm@—

«=fb fGare wiiearsa 9ol = qTba casiws 0, Flteae 5@ —

@ x*+4=0

d) x*-2=0
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5. AABC is an isosceles triangle in which ZC=90". If AC =6¢cm, then
AB = 1

ABC &% #afeare fage 3% 2C=90". I AC =6 2/, cefem AB =

ABC @& wafeare fagg @A £C=90". I AC=6 Cifi, oA AB =

(@ 642 cm (&R.) (GifL)

(b) 6cm (&f.) (GLA.) <@ \
AN
(c) 246 cm (c8F.) (Fif3.) @@

(d) 42 cm (&) (GLA.)

6. The mid-point of the line segment joining @;5 (-6,5) and (-2, 3)
a g :P
is (5,4J,then a= \@ ]

(-6,5) % (-2, 3) Repr f—f}]m. ad W 2% -

Q@ ity 5.4 | 2
(-6,5) ¥ (-2,3 g 3’7 ¥, a? WA FA =
s

A C\
B -

) 12

(@ -6
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9. I th}ércumfcrcnce of a circle is 44 cm, then its area is —

LY

a1 981 Afafd 44 2. T, TR FfA 79—

@ﬁﬁﬂ@ﬁ%ﬁﬁ.m.ﬂmﬁm—
(@ 276cm® (wfi2) (Gif2) |
o) 44cm’ ((gfi2) (GLAL2) Q
() 176cm’ (®f2) (ALA2)

(d), 154 em? (&fi.2) (Gifi2) | Cg@’

10. The volumes of two spheres are in @64 27 . The ratio of thei
surface area is —

WEWWWWM@ 2 A e T —

e 1:2 \

@<>@

g
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11. The median and mode of a dntn are 33 and 45 respectively. Then its
mean is — 1

51 AR WA G T TAFE 33 T 45 T0H, T4 27 —

G2l ST qY G IS UG 33 @32 45 TA, W4 T —

(@ 30

(b) 33

@ 27 | : ) @

@ s | o
O

12. A number is selected from the first 100 natural numbe robability
that the number is divisible by 7 is —

kT l%?%ﬁﬁﬂtﬂﬂiﬂmmﬂnmﬁlﬂ\w@
{‘a_

29w 1001 Frerfaw s cmmﬁm@mw?mﬁamm

weifeel g — @

@ 5 {%Q
B o5 0 %{;&\
(c) % °\®

@) o5
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17. Prove that : 2

o4 4l (4 .

o Al A S

cos A A l1+sinA
l+sinA cos A

=2sec A

18. Show that — 2

eeal (4 —

e — \

sin30" +tan45 - cosec60 ;\43 -2443
sec30’ +cos60° +cot4s” + 11

19. A lot consists of 144 ballpens of which 20 are defective and the others
arc good. Nila will buy a pen if it .is-gbod, but will not buy if it is
defective. The shopkeeper draws nxm\pen at random and gives to her.
What is the probability that 2

(i) She will buy it ?

i) She will not buy 4t ?

14451 2#0o 9T G W FELPTS 2051 W (T G S AFTAR S | AL LB
=y fafm Tfarz T em @ R (@@ 2E AfeE | (et I SR 9bl
wifars % oEs fare | e fE ane

fi) o5 25 e
fii) ©% 9%m R
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44
4

144%@%@@2omwmﬂmﬂmmﬁ!awwaﬁmmwmﬁ
ﬁﬁmuﬁmfﬁﬂamamMﬂwﬁmammmemwa#
azicom Tawl | <2 fmsaer f& @

) & af =
(i) @ «f @t

SECTION-C Qf\

20. Obtain all other zcros of 2;3:‘ —3x% -3ax?+6x-2, if w@fﬁa Zeros ar

J2 and -.2. ‘ @
4 3 2 . e =--‘.

-J2 A

2x“_3x3_3xl +6x-2 ﬂ@(i'ﬂ mmiﬂﬁ*ﬂ'{ﬁ‘ﬁl J—Q_ &

21. Solve the l'ullg/ i pair of linear equations
<>\ A
o 7 HAEE w4 |
W),
‘Q\ Y
« R aaeETEa A FEA |

4x+9y =35, 3x-5y=39
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_22. Find the roots of the following equation : 3

TFa A Ao 7 fdfa e

fva AEdfba = Af a3

x2-3x-10=0

N

23. Find the nature of the roots of the following quadratic equation. If@

real roots exist, find them.
x\\»

hmmMmﬁﬁMmmﬁWﬁ%@mmmu

2x* -6x+3=0 Q
Or / w%a @

Sum of the arecas of tw 5 is 468??! If the difference of their
perimeters is 24m, ﬁrﬁi\l des of the two squares.
wH! asfa wifEa i | gfe 2of o sfim onde 24 5 = (eEER aof

Wbl are ﬁﬂ@
y_ \ e
A AR 458&’ | 5% 2of w32 %vﬂm‘mmﬁmmaﬁm

WWE‘EWI
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24.

oo

How many terms of the AP : 9, 17, 25, ...coiveees must be taken so tha:
their sum i1s 636 7?7

g, . 17005001 o s A esifertr e 636 «ikta wa fEaebl om 79 #Hifse
: T b S0 et e 2afefBa 7 636 (re wH avaFH «w e w2
Or / 59q / q9ar

A sum of Rs.700 is to be used to give seven cash prizes to students o
a school for their overall academic performance. If each pﬂz&ia Rs.2
less than its preceding prize, find the value of each of the prizes.

g% RwEya ge-gd Heme wmele o orgea smaﬂ‘sﬁm 2 7005e=

A! 7o & R el 2o | I ofer sEERa @ o EhEretE 20 B =
2, (SrAZ A forhl asiea e Ada = .

mfsﬁwnﬂmmmwﬁmm@w%mmﬁmomﬁ
Ao ofrgi e 22 | af 2fef spwitaa e o T (w20 Bl @ @, o
ofefld smraa e Py a0 X

. Diagonals AC and BD of a trapezium ABCD with AB||DC intersect eac

other at the pomt O Using a similarity criterion for two triangles, sho

thal — % <JV

ABCD @f#f&mr= AB||DC &% AC &% BD ¥ qeis =@ O Tve (# =

' OA OB
m&wmmxﬁwﬁmﬂﬁmmﬁ-ﬁl
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ABCD Bif*feuitsm AB||DC @& AC <=2 BD =< 4T v@= O @it (@ ava |

aﬁ&wmmwﬁwmwamg&=%r

Check whether (5,-2), (6,4) and (7, -2) are the vertices of a triangle.
If so, name the type of the triangle formed. 3

(5,-2), (6,4) TR (7, - 2) ReqLeo! b1 fager Ry zem ot 3411 7 2,
(T0% (0 4R fToT 5ida 29 oF - e

(5,-2) (6,4) = (7, Q}ﬁﬁﬂﬁmmﬁﬁﬁmﬁsmﬂﬂww|
1% @, srrE G e« faew oe, o7 A |

Find the area of the shaded region in the fallowmg figure, where ABCD
is a square of side 14cm. , O 3

~ )
wte frnl oz umefre wwsiha @iy Bfea, 7' 14 B/ a8 ABCD b1 25w |

R

e foafbn wmafre weeaba #if (coewm) @@ =@, Qe 14 L, a8 ABCD
gafs asfrsa |

D #:
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N/
e of SECTION-D

28. Solve the following pair of equations by reducing them to a pair of linea
equations.

TFA A (A TafE AR Foimd R e 4 |

e silieacare tafue waae Fema @ smaw 2 |

s 3 4 L
_ +t—w =2, =-]
W O

A fraction becomes —. if 2 dcd to both the numerator and
‘denominator. If 3 is ad E@CB%II the numerator and the denominator,
it becomes - fraction.

o&@@
aﬁ!@%mamz s T = C‘R’EW@—I‘Hﬁ'ﬁm

Hmamwwmwmmgxmmu
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g s 7 #a ag 24 TermE F 2 CT A T, OIEE SuiesD %ﬂnﬂﬁ

5
4 G W TSR AF 3 (@IS T W, OzE sueat = g:@ﬂﬂﬁmml

29. In a right-angled triangle, prove that the square of hypotenuse is equal
to the sum of the squares of the other two sides. &

Il/‘>
AN

Tl fagers, o w1 @ wfgea a5 w151 A wsf e 3 w'%

)
ﬁ/s

mwmaﬁmﬁﬁwmﬁmﬁﬁm Mmm'
>/\»

Or / www / wew L/:r,
30
ABC is a right-angled triangle, right }at B. AD and CE are the

medians drawn from A and Cma@y If AC=5m and AD =¥m,

find the length of CE. @

\'E
ﬂwﬁﬁwucaamﬂlmmcswtwAWCzwwmmﬁ

AC=50. %% @BK%*—GE CE® Ui ffa =11

‘/\‘\\\)\

//’l \\5 &

mcaﬁwﬂ&m B F(F | AD €3t CE %5 TU&H A @@t C2 (U@

\\—/

wfws gy | @ AC =5/ @ AD=§2£ﬁ. ¥, ©I%rA CE-2 O g =a |
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30. Two poles of equal heights are standing opposite each other on either

31.

side of the road, which is 80 m wide. From a point between them on the
road, the angles of elevation of the top of the poles are 60° and 30
respectively. Find the height of the poles and the distances of the poin:

from the poles. -

ah mm«wwwmmmﬁmﬁmWﬁﬁ*
ﬁmlmqm@nmﬁqqum@ﬂ%m@mumg{\
30°, 3 B Twel wre 3B Wom v Rerh T Fel ok

\\</
(’ \

&b 80 b STl wqﬁwm@mmgﬁ{mwﬂw@r
#mmnm@iﬁammmﬁﬂﬁcmw 2 Tufe coet aetE

/7'\/>

60° m-su.qmemqumqm e ey atar

Two tangents TP and :ﬁtarawn to a circle with centre O from an
external point TZ at ZPTQ =2 LOPQ. -

N
b1 afzfay Ti\v@(émmm TP S TQ Wl *opsE Gl T | &R &0

A A\;Pj’fx?\ 'DPQ
VY
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Or / §94] / q9q]

In the following figure, XY and X'Y' are two parallel tangents to a circle
with centre O and another tangent AB with point of contact, C intersecting

XY at A and X'Y'at B. Prove that ZAOB=90".

e hae O (@WIG I XY Gk X'y HE® AL e Hie = ¢ um
GCF *¥E AB@AXYT AT YR XY'E BT 305 | o499 34 (8 LAOB =90"_

Fia bre O e @ XY @ XY 715 e e ga e O
% @3 e AB -5 XY(F A(T @ XY @ B(S (A o4NEEh @

£ZAOB =90 ,

2. Construct a tangent. to a circle of radius 4cm from a point on the
concentric circle of radius 6 cm and measure its length. Also verify the

measurement(by actual calculation. 4

6 (2fi @piraa @arafEs JEhM bl FWa %A 4 (B AHIET TR GuE ol
T (IR FR | FNCS 4P A TE (I S 340
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33.

6 o1f amda caTeTEs geta ool R w4 GLA. Frda 76 ofe 93 ==
dr ol Fe | K AT SR Al IR WA ST A |

SECTION-E

A toy 1s.m the form of a cone of radius 3-5cm mounted on a hemisphere
of same radius. The total height of the toy is 15-5cm . Find the IQJ.
surface arca of the toy. \\

B! T GTF APAGIE 5] TRLEAS ST 3-5@A &B«
oTEIOE 5 TH! LA 155 &AL ATHADR 3 *HE

Mﬁﬂaﬁmmmqﬂmem 3-5&%@@@
sify® | Hfgwia (A5 THT 15-5 Gif 1 og=id (m)ﬁ@wq

O
o,,&@q
Q

A cylindrical buc:khgh and with radius of base 18 cm, is fil

with sand. Thm“buc
sand 1s fnrrrseff\j e height of the conical heap is 24 cm, find the radi
and alan;l%@}it of the heap.

gl \’\\\\/

32 o4 w18 &AL Wﬁﬁthuﬁfﬁwﬁmﬁamﬁ
aiaﬁmmm@uﬁmmﬂqfuwﬁﬁmqﬁmmqmﬁawww
04 3 fi, Z7A, WADA TP A (FE THel Fef =

is emptied on the ground and a conical heap
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szmﬁ.%%//mlamﬁgﬁmiﬁmmmmmwmﬁm
ure | 9% AEfefl wbre wfFE ware @ =5 wigfen 7 5 =1 g wgpfen wba
Twel 24 FLA. 2, *miha e 9 fode Twe e a @

34. If the median of the distribution given below is 285, find the values of
s ]

x and y.
Class interval: | 0-10 [10-20]20-30[30-40 [ 40-50 50 - 60 | Total |
Frequency o x 20 e Y 5 6

o4 faerema s fF 285, (S0% x W y3 WM SfAsa 6@
50 - 60

0-10|10-20|20-30 | 30-40 40—5@

(=) e
IRARE s | 5 x 20 15 D] 5 |60
)

ﬁmﬁ@mwmﬂﬁza-smmx a2 3 |
pﬂm 40 -50 | 50 - 60 |caf®
15

20 303
3&\} Yy S 60
)

%

: [0-10]10-20
MRS | 5 x
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